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Find the value of each variable. Leave your answers in simplest radical form.
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The numbers represent the lengths of the sides of a triangle. Classily each SHO(,U Loa Lk ~

triangle as acute, obtuse, or right. Do~ b Jos7T RATE
11. 6.9.10 12. 15.24.30 13. 20.100.110 ACU TG,
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H‘I Find the length Lo-the-pearest-eemtimeater-of the diagonal of a square
30 cm on a side.

(4 The hypotenuse of an isosceles right triangle is §.4 in. Find the length

of a side lothenwaresitenth-olarrsmeh.— /CMD ([}Z-/Q

(6 Ina30°60°-90° triangle. the shorter leg is 6 ft long. Find the length ¢ _ { )‘Q/’A
thenpasesiienihicabasteetof the other two sides. G =
10, Each side of a rhombus is 14 in. long. Two ol the sides form a 60° angle. JZ/KCC@ i{'

Find the area of the rhombus. Resrd-veur-answerlolhe-nearess
squarE=neh-



